WSC - Semester 1 Module 1 - System of units Factors and Fractions
Reviewed and updated on: 01% November 2019 Version 1.1

1 : What are the two classifications of system of
units? | SHTSTT BT YUTTEH F &l UHR BN &2

A : British and Metric | fafc=r 3‘?[?%55

B : Gravitational and non-gravitational |
THATHYT 3R TR-TSATH YT

C : Fundamental and derived | Hifere GﬁTTJﬂ'cCIﬂ
D : Metricand International | ﬁ@(‘ﬁ\’rﬁ?

EGRERIE |

2 : What are fundamental units? | _s’:l'ﬁfﬁ
A SIS PIA-PII g2

A : Length, Mass, Volume | ?W_sc, QOTHI,
A

B Length, Mass, Time | ('idlig, SOoJH[H, JHY
C : Length, Mass, Area | Q'I'Gllir, o HI, @I>IUPQ1
D Length, Pressure, Volume | ?“Wl_ﬁc, ald,
A

3 : What denotes letter ‘M’ in MKS system? |

MKSUUHFﬂfr M’ 31&R T STl 87

A : Mile| oa
B : Meter | ez
C : Millimeter | e
D : Micron | II'IE?Jb:F[
4 : How many millimetres are there in 1 inch? |
1 ﬁﬁmﬁﬁ?ﬂtﬂaﬁﬁ%?
2.54 mm
B : 254 mm
C : 245mm
D : 245mm

5 What is the LCM of 12, 18, 6, 36? | 12, 18, 6,

36 1 Lcm faaT grme?
A 12

B : 18

C : 36

D : 42

6 : Whatisthe HCF of 18, 42, 24? | 18, 42, 24
T HCF T 82

A2

B : 6

c : 18

D : 24

7 What is the improper fraction for the given

mlxed fraction ? | ﬁqmﬁ%ﬁlﬁﬁﬁ&lﬂﬁlﬁ
fire et 82

A 52/7
B 7/52
C 28/7
D 7/28

8 : Convert decimal 0.000659 to fraction? |
0.000659 GRIANT NF HI ATYRT = & Faal?
A : 659/1000

:  659/10000
659/100000
659/1000000

OO w

Simplify: | T PIOTI- (3/4) +(2/5) -( 5/20)
3/10

9/10

12/10

13/10

OO mW>» O

10 : Divide: | HFTGIST- 20-31 + 15/62

11 : Whatis the product of 0.003 x 0.5? | 0.003

xosmww%?

A : 0.00015

B : 0.0015

C : 0015

D : 015

12 Simplify: | IR0 BIOT- (17.49x 5.2) / 6.5
A : 13.69

B : 13.79

C : 13.89

D : 13.99
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13 : Whatis the length of each part if a copper
wire of 225 metre long is cut into 900 equal parts? |
gfe fpdl 225 Hiex @ dfd & dR &1 900 SRTER
auﬂjgﬁwaﬁa’ru@w YN & AEETS [t
?

: 0.23 metre

0.25 metre

0.28 metre

0.29 metre

OO w >
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What is the square root of 529? | 529 [

WW%?

A

B 23
C 33
D 43

What is the square of 0.01? | 0.01 T

mﬁaﬁw%?

A 0.001

B : 0.0001
C : 1.0E-5
D 1.0E-6

16 : What percentage of 80is 20? | 80 I 20

Ufa=Id T 82
A : 80%
B : 40%
C : 25%
D : 20%

17 : How much is 8% of 40 kg? | 40 el T 8%

W%?

A 2.2 kg
B : 3.2kg
C : 42kg
D 5.2 kg

18 : Convert 52% into fraction. | 52% ! f4a |

qaferd?

A : 9/25

B 11/25

C 13/25

D 17/25

19 : Convert 0.456 decimal fraction into

percentage. | 0.456 GRIHA ¥ &I Ufa=rd o
?

A 45.6%

B 4.56%

C 0.456%
D 0.0456%

20 : Whatisthe 'x’ value for x? + 62 = 102? | x*+

62= 102 & [l 'x' A AT 22
4

A

B : 6
cC : 8
D 10

21 : Whatis the square root of decimal number
550.37? | GRIAT ST 550.37 P YA T 82
A : 21.26

B 22.26
C : 2246
D 23.46

22 : Whatis the value of V8 + V18 - 2v2? | V8 +
V18 - 2V2 BT A A1 8?2

A : 224
B 3.24
C : 424
D 5.24

23 : Whatistheside ABif AC=10cm and BC=6
cm? | TfE AC = 10 T 3R BC = 6 AU &, AT AB YT
ST R 2?

c
'@d«
Scm
A B
?

A 8cm
B 6 cm
C 5cm
D 4cm

24 : Whatisthe side BCif AC=15cmand AB=9
cm? | TG AC = 15 THY 3R AB = 9 THY 8 off BC YT
BT A R G2

A

1Scm

4cm
8cm
10cm
12 cm

OO w >
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25 : Whatis the value of side AC if AB = 7cm and
BC=5cm? | Tfg AB =7 qH 3R Bc=5 A gl
GIT AC &1 T 7 82

[
7
Sem
A B
7 em
A 8.2cm
B 8.6 cm
C 8.4 cm
D 8.1cm

26 : Whatis the percentage of copper if the
casting weight of copper 42.3 kg and tin weight 2.7

kg? | Tfe BT A T BT o 42.3 fpeiumd 3R

feT 1 9o 2.7 fpama § ) did &1 ufa=rd =
B2
A=)
42.3 Kg Cu + 2.7Kg Sn
%Cu + % Sn
A Cu92%
B Cu 94%
C Cu 96%
D Cu 98%

27 : A motor cycle tyre is sold for Rs 300/- what
is the purchase price if 25% profit is added to it. |
e Teh HIcR WIgfbel TR 1 300 / - H ST STl
,9R 39 25% AH AT g I WG HTHI A& |

A : Rs200

B : Rs220

C Rs 240

D Rs 260

28 : Whatis the decimal fraction of conversion
of 18.5%? | 18.5% P! GRHAd A H TG ?

A : 0.185

B : 0.175

C : 0.165

D : 0.195
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29 : Which oneis non-metal? | g:lﬁﬁ\’rﬁf@
DI R?

A Mercury | URT

B : Graphite |

C Brass |

D Iron | NI

30 : Which metal contains iron as a major

content? | $7H ¥ fob s ¢1q H U@ Al & U H
g &2

Brass metal | Uiddl Yrd
Bronze metal | SIIST Y1d
Zinc |

Ferrous metal | ?ﬁ%"ﬂlﬂ

UﬁW:D%/

31 : Whatis the name of the metal which do not
;%r:}t_gﬁi%_;%m? | 3 YT BT =T 1 ¢ T afgn
?
A Ferrous metals | T8 Yrq
B : Non-ferrous metals | 3§ Yrd
C Insulating metals | dlcidh YUTq
D Non-Insulating metals | {dTcIh YT

32 : Which one of the following is the

mechanical properties of metal? | FafRIAd A A

DI -1 TUIH YT &1 i 07 62
A : Fusibility |

B Ductility | d=Idl

C Corrosion | G&RUT

D Structure | AT

33 : Whichis brittle metal? | E:Iﬁ@fﬂ-l'{l,? Yrd
aﬁqxﬁ%?

Castiron | WT@IET

Steel | SUUId

Mild steel | FIRH ¥Id

Alloy steel | firgy Yrd ¥1d

OO w >

34 : Which mechanical property of a metal
offers resistance to elastic deformation in a cutting

tool? | YT B P T FifAH 0T U HIe— &b

USRI H diaeR fa=uur o forg ufeRly ugH
ao—rcﬁ%?

A Ductility | d=Idl

B Malleability | SraTaasaar

C Hardness | HARAT

D Toughness | Eﬂ'ﬁl@.'q-_-[

35 : Which property of a metal is its ability to
resist the effect of tensile forces? | wqa"ra%:rm
g;ﬂ%m%av%wﬁ%w%wﬁﬂm
)
A : Elasticity | UARdYUT
B Tenacity | USRI
C : Ductility | d=UdT
D Brittleness | HRdT

36 : Which property of metal has its power of
returning to its original shape after the applied

force is released? | U@ﬁﬁ:ﬂ'ﬂﬂmaﬁ SUIBRSH

e TUd qUT 96 g TR aT9¥ 30+ YaiaRiT & 3
ﬁsm?nwm%?

A : Malleability | SraTaasaar

B : Tenacity | €adl

C : Elasticity | UIRJUT

D : Plasticity | JURIdI

37 : Which property of a metal possessed by it

melts when heat is applied? | Q:I'Ef@ u@ﬁﬁw
gmﬁvm@f YT ) TRH $H3 W e ST 22
A Conductivity | dlcibdl

B : Malleability | 3TETA@eIadr
C : Fusibility | TEAAT
D :

Tenacity | €edI
38 : Which alloy used in electric lamp as
filament? | ST 9 fob sy vy mwwﬁnﬁz{gﬁ
§od & fthatc B foar ol 2
A : Cobalt | PEkT
B Vanadium | JAfeTH
C : Tungsten | [RIRSE|
D Silicon | faferpiq
39 : What metals contained in brass alloy? |
tiaa o BIF-BIt fBrer et et 8

A : Copperand aluminium | GIEI

B : Copperand lead | didl 3R I
C : Copperand zinc | didl 3R ST
D : Copperandtin |?‘|'IE|T3hT]%T'T
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: Which cast iron cannot be welded? | _s’:lﬁﬁ
aﬁwmsﬁaaﬁa@"lﬂﬂ%"r T ST Gepel 272
Grey cast iron | Wm?ﬁgf

White cast iron | G%¢ ga@dl oigl

Malleable cast iron | ﬁwaﬂ?ﬂr«ha
Nodular cast iron | TMéeR eadl argl

OO w >

41 : Which metal cannot be forged? | g:lﬂﬁ

mmaﬁuﬁﬁ@;(aﬁ)ﬁmww%
A Alloy steel | s Yrg grd

B Mild steel | 3@?12%{

C Steel | ¥UId

D Castiron | WT?ﬁBT

42 : Which metal is widely used for making

casting of machinery parts? | AR um‘rﬁa?rrs‘
aqﬁ;ﬁﬂm YT 1 U FY F IUINT T
Wldl &?

A Grey cast iron | Wm?‘ﬁfﬂ

B White cast iron | TG a@dl gl

C Malleable cast iron | ﬁ?ﬁTWT?ﬁBT

D Wrought iron | ?ﬁET

43 : Which furnace is used to get pig iron from
iron ore? | ﬁ%@mﬁﬁn@mmﬁ%%@
m u@wwmw%?

A Rever battery | W@a éa"r

B : Electric furnace | 3@% L|§°r

C : Blastfurnace | &XIRC

D Cupola | FHurem

44 : Whatis the name of furnace to obtained

cast iron? | maﬁaaqﬁéﬁﬁwmugﬁm
SUGNT {3 ST B2

A Cupola |a'71ﬂFIT

B : Blastfurnace | AT3CS TId - &R By
C

D

Rever battery | Fﬁ?‘f W g
NS 'l

Electric furnace | kﬂlq J-ICQ1 Aldgdh thY

45 : Whatis the other name of low carbon
steel? | 19 FTe WA &1 GIRTAH FT 82
A : Low alloy steel | Ay RIGESSIGH

B High alloy steel | 3 s Yrg ¥Id

C : High speed steel | ]GE[WI%T@FT

D Mild steel | W@F{

46 : Whatis the carbon percentage in medium

carbon steel? | A BT W | BT BT

gfi=Id fha g2

A : 0.05%t00.15%
B : 0.15%t00.25%
C : 0.25%t00.5%
D : 05%tol5%

47 : Whatis the carbon percentage in low

carbon steel? | WW@EJEIWW
Ui gid1 87

A : 0.02% to 0.03%

B 0.15% t0 0.25%

C : 0.25%to0 0.50%

D 0.50% to 1.50%

48 : Whatis the carbon percentage in high
carbon steel? | 3 BT Wd H HIa fHaT
Of=Id gl 82

A : 0.02% t0 0.03%

B 0.15% t0 0.25%

C : 0.25%to 0.50%

D 0.50% to 1.50%

49 : Whatis the ore of aluminium?
THfTH BT 3 T R

A : Hematite | %Tlﬁ_cf

B : Mallatite | HECIZC

o Bauxite | EVWE_C’

D Lemonite | ﬁﬂﬁs‘c’

50 : Which property of a metal enables it by
which it can be drawn out into wires under tension

without rupture? | ﬂlﬂﬁﬂgﬂmm %ﬂﬂaﬁ
T 22 IR & T A W1 o GhaTl 87

A : Ductility | d=Udl

B : Malleability | 3TaTdae=adr

C : Hardness | HORAT

D Brittleness | HYRdT

51 : Which among the following is an insulator?

|ﬁgﬁf@ﬁﬁ@rmww@dm¢ 8?
A : Copper | didl

B : Aluminium |Q?1&Iﬁ|'m:[

C : Silver | Eﬂ_pr

D : Mica | t:cal
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52 : Which rubberis used as insulator for power
cables and control wires? | ﬁga'%a 3R fion
IRl & T 3geicr & &0 T fovd IaR &1 U
%om\—:rren%?

A : Butyl | SCId

B Hypalone |

C : silicon | Rifara

D Nitrite butadiene | W@F@:{

53 : Which alloy steel is used to make
permanent magnets? | Rﬂtﬁwaﬂﬁ$ﬁ’m
mﬁr% YT ST BT FUTIT T SITal g2

A Silicon steel | ]%I'WH%WTH

B Manganese steel | 'aTI:ﬂ\_STEWH

C Vanadium steel | aﬁ%?mswm

D Cobalt steel | PIdTeE ST

54 : Which insulator is used in over head lines?

| 30 T T HaTas BT IUTNT 3R 7S Arg—i o

A

B : Rubber |[YsR

C : PV.C

D Porcelain @ﬁfﬁq

55 : Which insulating material is used for
making switches? | %ﬂ@ﬂﬁ%ﬁﬂzmw
Wwwmm%?

A Porcelain | LIRNE

B : pvC|TidN

C Bakelite | a?ﬁﬂif

D Ebonite | 3@7413_6

56 : Whatisthe name of the property of an
insulator that should brake down or puncture on
application of high voltage? | qﬁlﬁ%magw
18 Il 3 dlecdl & 3T TR ¢& o1 A1gd
W@WET%E?

A Di-electric strength | Waa'ﬂﬁ

B : Specific resistance | ﬁ&rguﬁ@ru

C : Mechanical strength | iy g

D R 3a=yor

Non absorption |

57 : Which alloy steel is using for making
precious instrument? | mﬁ[ﬁmﬁmﬂ
DI SUBRYT S o forg fopam s g

A : Silicon steel | ﬁlﬁ‘lﬁ:{m

B : Manganese steel | 'aTFﬂ\_STW

C : Invarsteel | SR g¥Id

D : Vanadium |

58 : Which steel is used for making files and cold

chisel? |Wﬁmﬁm$mm@ﬁ
WWWW%?
A : Low carbon steel | g wea Ta

:  Medium carbon steel | AYH Hle- Kd

B :
C : High carbon steel | I Hle LI
D : Stainless steel | ErE R R [N

ANSWERS :

1:C; 2:B; 3:B; 4:B; 5:C; 6:B; 7:A; 8:D; 9:B; 10:D; 11:B;
12:D; 13:B; 14:B; 15:B; 16:C; 17:B; 18:C; 19:A; 20:C;
21:D; 22:C; 23:A; 24:D; 25:B; 26:B; 27:C; 28:A; 29:B;
30:D; 31:B; 32:B; 33:A; 34:C; 35:B; 36:C; 37:C; 38:C;
39:C; 40:B; 41:D; 42:A; 43:C; 44:A; 45:D; 46:C; 47:B;
48:D; 49:C; 50:A; 51:D; 52:C; 53:D; 54:D; 55:C; 56:A;
57:C; 58:C;
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